@ P 5= AT, e e
U= fem i dr < 2 (e (TM t]dt

e D T;’l
?:/C’% égjz ESR — 2V e 22 L o
‘\T/ M af’f‘chﬂ:ﬁ - (T ) ek S ?/ ~_ ESZ . ._3__"_7_
/P: 0,1 N = ! = | R C“) r—‘“"*““”‘“‘"‘ uuuuu
| ASW  Peopmi o1, =L %7566 2
WL T -
g é,\:@-: -1 j&, =0
S JF{?’_L -}{T L, L ‘}\:}, fiz~ VDSO!« I )23’"/08+Vu ~12)(FVE o
Wi 'R = [YF 7
™ L FI fponEL
12 = Ipsoy, g’fﬁ% ) N s (Ua +\n _42) (4~b):~ O %{4—3})
12(1-D)b- sy, lth.* (Up + V12 \(/)N )3} B, _tagys * «/Z??4 ” -2
12D ~12D%- 5™ p - (w)(ﬂ 2a+n) o - ~ 29
3 4o, % 99/
(~12 fmﬁ)b w(12-04 24)p +(~43f)_: > e “I}Oo

_Dy=ogcr ; Py,=0613,

752@ jD% — 45/5(D FA4F =&y

Ug= A o= 4-p =12 -2,
E~ 7 D’ > o Uz 1 > 1 R 55 = 037
L = L . e S ~
3 17 = [ Y = ), :
C/ F > /- ”‘Li\ - ey %1 5o 0F —30' 02 =50 0 1 _:_,_%Q_l/
( . T :
e T R | V= Rals +EMS =R T, +kn
Vot = T R, k. :
7 ) . = Jo=0. , o = - 2
V ; 7 0 Ratk 2500 = k = Pt i )
= K + =
Vﬁ; az Rat b, 7 20 =10 Ra + k2000 Z1ORA+ Bofp \ko:
42 =Joz Fa+ kry 20 = 10Rs + 46 > dop, = 4. 5 4
e ‘EQ 4 Ra = =6 .
/ 10 /d'ﬂ“ ,

\/C«‘rz,: '10'0,:4' + 0008 2500 = 4 4 o5 =24

Voo = 50 Dy — s0(4~ b)m 50(?_3—4)-‘2-90
2D, -4 =2 = o, g 24 I+ %
o Re.= 4t 5o 1+ b= =0H4=F+4 o




